Adding, subtracting, multiplying, and dividing integers NAME

Who referees sporting events in Vatican City:

DIRECTIONS: Solve each problem and then find yo
answer in the decoder. Each time your answer
occurs, write the letter of the problem above it.
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-2 + (-7) = (o) 7.  -17(-8) = (1)
-13(10) = (t) 8. -12 = (.6) = o (i}
15-20 = (a) 9. 61 + (-33)+ (-20) = (r

———

-15 + 30 + 20 + (-11) = (n) 10. -10-(-2) = (h)

-5(-8)(3) = (e) 11. -36 + 6 = _(p)
2+ (-8) + 6 = (m) 12. 18(-9) = —y)
13. -48 + (-6) + 12 = (u)
-130 -8 120 -8 -9 136 -162
8 ® 4 B 22 20 4 6 2 g 120
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-Le§5o‘ﬂ 12. Enrichnunt

Why did the ant run across the cracker box?

Do any exercise below and find your answer in the corresponding answer column. The
letter of the exercise goes in the box that contains the number of the answer. Keep
working and you will discover the answer to the title questlon
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d-15+7= @7 @153 +14= ~1

[Alg — -21 = (32 -27 :@(10+ =5) (2) = (43

D] (3) (-9) = @950 o H(3-4) 7= 10 -55
[H]-24 = 4 = 198 o DI(9-6)+ 4= (7) 30
[E]-9 + 13 = @5 -6 :(30——22 6= (12)-58
[0](-2) (~25) = 36 -5 :@(20 =11 = 34) 100
[£]-50 - 30 = (5)29 s @(28-—10 -7 = 39 9

Gl-56 + 8 = (8)-80 ° 13 +=12) (-4) = (31) 31

[E]32 + -37 = (3)-22 o [L(4-76)+"8= @—48
.......0..OOO......:........0....0.0039800..
[[]-5+20 = (912 ¢ [El6+17)-20 = (18) 14
130 + =2 = ) -100 & Bl(-64+2) +-2= Qz

Al-9 ——19 = @) 77 o Bl-5--6)-"87 = 16) -9
N]-7 =11 = 29 -14 o [T](-40+-50) ~ 9= 35) -12
[0-7 +-11 = @4 -15 ° [RI(-13+72) + 12 = (6) 87
[S]-60 + 5 = (1)-24 ¢ Nj@42+-7)-6= en7s
12-36= @39 -26. * [DJ(5--30)(3) = 15 72
[El-17 -3 = 19-18 o [L)(-12+-18) +~15= 29 -10
[3_2_:'8 a7 10 o [T8--8)-"8= 19) 16
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